
320 S.W. 18th St.  •  Edmond, Oklahoma 73013  •  (405) 340-3434  •  FAX: (405) 340-3435  •  E-mail: pelco@pelcoinc.com
SECTION 4 BULLETIN NO. 140  12/8/99

POLE & BASE ACCESSORIES

10

13

8

12

6

11

10
9

18

17

9

7

15
14

1 POLE & BASE COLLAR ASSY., For Square Base ......... PB-5325
2 POLE & BASE COLLAR ASSY., For Octagonal Base .... PB-5326
3 PEDESTAL ADAPTER, Alum. .................................. SE-3104
4 UNIVERSAL HAND HOLE COVER

ABS Plastic, fits 2-3/4" x 4½" to 5' x 8" ......................................... PB-5356
5 GROUNDING LUG  W/ Mounting Hardware ......................... PB-5323
6 ANCHOR BOLT ADAPTER .................................... PB-0532
7 BASE COLLAR, ROUND  For Square Base ...................... PB-0531
8 BASE COLLAR, OCTAGONAL For Octagonal Base ....... PB-0533
9 ROLL PIN, 5/16" x 3/4" .............................................................FS-6308
10 BOLT, Socket Hd., 5/16"-18 x 1½" ...............................................FS-2052
11 SETSCREW, Square Hd., 3/8"-16 x 3/4" .................................FS-3204
12 RETAINING STRAP, Alum. .................................................. PB-0568
13 HAND HOLE COVER PLATE, ABS Plastic ..................... PB-0566
14 FLATWASHER, #10 x 9/16", Stainless Steel .................. FS-4103-SS
15 SCREW, Phil. Pan Hd. #10-24 x 2½", Stainless Steel ....... FS-3978-SS
16 SCREW, Phillips Round Hd., #10-32 x 1" .................................. FS-3913
17 GROUNDING LUG, Copper W/ Terminal Screw ................... PB-0525
18 LOCKWASHER, Split, #10 ...................................................... FS-4211
19 LOCKNUT, W/ Nylon Insert, #10-32 ......................................... FS-1203

ITEM DESCRIPTION PART NO.

19

16

1

3

2

4

5




